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Q1 If35AI18BS5C10=115and41A23B7C 15=187,then 8A4B5C9="7
Ans X 1.

Q2 p the following question, select the figure which can be placed at the sign of question mark (?) from the given
alternatives.
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Q.3 Ina certain code language, if CARROT is coded as 81, BROCCOLI is coded as 85, then what will MUSHROOM be

coded as?

Ans 1. 130
X2 97
<3102
X4 128

Q4 Pointing towards a photo of a girl, Rekha said, ““She is the daughter of my brother’s father”. How girl is related to
Rekha?
Ans 1. Sister
X 2. Mother
X 3. Sister in law
X 4. Grandmother

Q5 A paper is folded and cut as shown below. How will it appear when unfolded?
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Ans
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Q6 In the following question, select the related letters from the given alternatives.

LY 'KV IJW:?
Ans 1 T

X2 UZ

X3 WX

X4 UV
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Q7

In the following question, select the figure which can be placed at the sign of question mark (?) from the given

alternatives.

Ans

ealen(zz(zfE

Q8 1 the following question, select the missing number from the given series.

30, 28, 24, 16, 0, ?
Ans X 1. 40

< 2. 35

X3 =30

4 32

Q9 Which two signs should be interchanged to make the given equation correct?

10=3+2-5+1=11
Ans s 1w and =

X 2. =and -

X3 xand~+

X4 +and-
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Q10  Five friends P, B, C, G and H are sitting around a circular table facing towards the centre. B is sitting to the immediate
left of C. G is not the immediate neighbour of C. H is sitting second to the right of P. Who is sitting on the immediate

right of P?
Ans 1. G
X2 B
X3 C
X4 H

Q11 In the following question below are given some statements followed by some conclusions based on those statements.
Taking the given statements to be true even if they seem to be at variance from commonly known facts. Read all the

conclusions and then decide which of the given conclusion(s) logically follows the given statements.
Statements:

I. Nored is black.

II. No rat is black.

Conclusions:

I. Some rat are not red.

II. Some red are black.
Ans 1. Neither conclusion follows
X 2. Only conclusion IT follows

/< 3. Both conclusions I and II follows
# 4. Only conclusion I follows
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Q.12

Ans

Select the correct mirror image of the given figure when the mirror MN is placed to the right side of the figure.
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Q13 Select the correct mirror image of the given figure when the mirror MN is placed to the right side of the figure.
M
N

Ans

& 1

N
N
>
A

Q14 n the following question, select the related letter pair from the given alternatives.

FCQ:BYM = ?
Ans X 1. PQR:LMM
X2 ZOB:0QT

X 3. WWX : FIJ
W 40 ANG : WIC

Q15 Which of the following numbers will replace the question mark (?) in the given series?
33,2,32,44,31, 45

Ans X142
X2 34
3 43

x4 3]
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Q.16 1n a certain code language, if LEFT is coded as JCDR 1, RIGHT is coded as PGEFRI, then what will STRAIGHT be
coded as?

Ans 1 RFEGQYPR3
X 2. QRPYGEFR3
X 3. RFEGQYPR2
« 4 QRPYGEFR2

Q17 A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

PMNT, TQRX, XUVB, BYZF, ?
Ans 1. FCDJ

X 2. ECDQ

< 3. FNMR

X 4 EMRM

Q.18  Five colleagues Emma, Ethan, Grace, Hannah, and Isaac are sitting on a circular table facing towards the center. Hannah
sits in between Emma and Grace. Isaac sits to the right of Ethan. Ethan and Emma are not neighbors. Who sits to the
immediate left of Grace?

Ans 1. Hannah
X 2. Emma
X 3. Ethan
X 4. Isaac

Q19 Arrange the given words in alphabetical order:

1. Cook

. Book

3. Took

4. Look

5. Shook

Ans  X1.51,4,23
X2 25413
X3 23145
42,1453

(]

Q.20 which one set of letters when sequentially placed at the gaps in the given letter series shall complete it?

bc_beeebee . cecee
Ans X 1. ccec

< 2. cche

< 3. cbec

4 ceeb

Section : Part-B-General Knowledge and General awareness
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Q1 Article 51A (i) of the Indian Constitution is related to which of the following?

Ans 1. To safeguard public property and to abjure violence
X 2. To value and preserve the rich heritage of our composite culture
/< 3. To defend the country and render national service when called upon to do so

X 4. To uphold and protect the sovereignty, unity and integrity of India

Q2 1 which year did India host second Asian Games?
Ans X' 1. 1978

X 2. 1980

X 31999

4 1982

Q3 The Cabinet Committee on Economic Affairs chaired by the Prime Minister Shri Narendra Modi approved a new
Central Sector Scheme “PM Vishwakarma™ in 2023 with a financial outlay of Rs.13,000 crore for a period of

Ans X 1. ten years

X 2. seven years
« 3. five years

X 4. siX years

Q4 India shares about of its land border with Afghanistan.
Ans X 1. 306 KM

¥ 2. 106 KM

A 3. 506 KM

X 4706 KM

Q.5 Sri Lanka is separated from India by a narrow channel of sea formed by the Palk Strait and the

Ans X 1. Gulf of Strait
X 2. Gulf of Kutch
« 3. Gulf of Mannar
X 4. Gulf of Khambat

Q6 Free throw is the sport term of

Ans X 1. Football
X 2. Cricket
2 3. Badminton
« 4. Basketball

Q7 The couple who won Padma Bhushan in 2009 for Bharatanatyam are

Ans X 1. Krishna Ella and Suchitra Ella
X 2. K.V. Sampath Kumar and Vidushi K.S. Jayalakshmi

« 3. Vannadil Pudiyaveettil Dhananjayan and Shanta Dhananjayan
X 4. Mahaboob Subhani and Kaleeshabi Mahboob
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Q8  Ason June 2023, who launched the multi-lingual India Legal App. legal helpline accessible to the citizens to obtain

legal assistance from their homes?
Ans 1. Justice M. N. Venkatachaliah
X 2. Justice 1.S. Khehar
X 3. TJustice T.S. Thakur
X 4. Tustice H.L. Dattu

@9 Who has been named “Governor of the Year” for 2023 at Central Banking Awards 20237

Ans 1. Shaktikanta Das
# 2. D. Subbarao
2 3. Urjit Patel

X 4. Raghuram Rajan

Q19 On which Indian musician's life was the documentary film “Bansuri Guru™ based on?
Ans X 1. T.H. Vinayakram

& 2. Pandit Ravi Shankar
+ 3. Hari Prasad Chaurasia
2 4. Pandit Shivkumar Sharma

QM What is Statutory Liquidity Ratio (SLR)?
Ans 1. It's the percentage of deposits that banks must keep in liquid form in the short term

X 2. Tt's the interest rate at which banks borrow from the central bank
X 3. It's the ratio of government bonds to total assets held by a bank

X 4. It's the ratio of a bank's capital to its total assets

Q12 Which of the following terms is NOT related with cricket?
L. Runs

II. Dribbling

Ans X' 1. BothIand II
X 2. Neither I nor IT
X3 OnlyI
4 Only II

Q13 Which of the following state is associated with Kathak?

Ans 1. Uttar Pradesh
X 2. Kerala
< 3. Andhra Pradesh
# 4. Bihar
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Q.14

Who among the following is the wife of Chandragupta I.
Ans X 1. Kumarikanya

X 2. Kanyadevli

+ 3. Kumaradevi
X 4. Kanyakumari

Q15 Which of the following five-year plan of India has achieved its target growth?

Ans X 1. Ninth Plan
X 2. Tenth Plan
X 3. Eleventh Plan
+ 4. Eighth Plan

Q16 T India, the salaries of the Supreme Court judges are determined by

Ans X 1. President of India
+ 2. Parliament of India
X 3. Chief Justice of India
X 4. Prime Minister of India

Q17 YWhich one is the Traditional Celebrations of Kerala?
Ans X 1. Nag Panchami

X 2. Hornbill Festival

X 3. Baisakhi

« 4 Onam
Q.18

What is the atomic number of Helium according to the modern periodic table?
Ans X 1.5
<23
3 2
X4 4

Q19 Who among the following addressed World Parliament of Religions at Chicago in 18937

Ans 1. Swami Vivekananda

X 2. Ishwarchandra Vidyasagar
X 3. Swami Dayanand Saraswati

X 4. Raja Rammohun Roy

Q20 A fall in the bank rate can the money supply.

Ans X 1. decrease

X 2. not impact

X 3. equalize

« 4. increase
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Q1 The average salary of a company's eight employees is S6000 per vear. If the average salary of the first 4 employees is
$5500 and the average salary of the next 2 employees is $7000, what is the average salary of the remaining 2 employees

to maintain the company's average salary?
Ans X 1. $5500

« 2. 36000

X 3. 84200

X 4. 37300

Q2 Shyam can complete 3/5 part of a work in 10 days. Rakhi is 1.5 times as efficient as Shyam. In how many days will

Ralkhi alone complete the same work?
Ans X 1. 18 days
X 2. 22 days
« 3. 100/9 days
X 4. 20 days

Q3 The marked price of a shirt is twice of the cost price. To earn a gain of 20 percent. what should be the discount

percentage?

Ans 1. 40 percent
X 2. 37 percent
X 3. 47 percent
X 4. 45 percent

Q4  If Raman travels with 30 percent speed of its usual speed, then he will reach 15 minutes late. What is the usual time
taken by him?

Ans X 1. 28 minutes

X 2. 42 minutes

X 3. 21 minutes

" 4. 35 minutes

Q.5 625 of 45 +255+ 506
What is the value of 125 225 64 196 9
Ans 115
X2 14
X3 16
X4 17

Q6 A pumber increased by 28% gives 320 as a result. Find the number.

Ans 1. 250
X 2240
X3 220
X 4. 280
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Q.7 The average of five consecutive odd numbers is 21. What is the largest number out of these five numbers?
Ans X 1. 27

X2 3]

3 25

X4 29

Q.8  The difference between simple interest on a certain sum at the annual rate of 12 percent for (3/2) vears and (7/2) years is
Rs. 1920. What is the sum?

Ans X 1. Rs. 6000
X 2. Rs. 14000
« 3. Rs. 8000
X 4. Rs. 12000

Q.9  Anil donates 30 percent of his income to a school and deposits 70 percent of the remainder in his bank. If he has Rs.
9765 now, then what is the income of Anil?

Ans X 1. Rs. 45600
X 2. Rs. 45500
X 3. Rs. 46000
« 4 Rs. 46500

Q10 The length of the longest rod that can be placed in a cubical room is 8V3em. What is the volume of the cube?

Ans

X1 1728 em’®
X2 216 cm’
3 512 em’
X4 64 em?

Q.11 Tom and Jerry can paint a house together in 9 days. If Tom alone can paint the same house in 15 days, how long will it

take for Jerry to paint the house alone?
Ans 1. 45/2 days

X 2. 45/7 days

X 3. 41/3 days

X 4. 41/5 days

Q12 A table is purchased for Rs. 8500 and sold for Rs. 8000. What is the loss percentage?
Ans 1. 5.88 percent

# 2. 10 percent

X 3. 5 percent

X 4. 7.5 percent
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Q13 Rs. 17000 is lent at compound interest at an annual rate of 22 percent for 1 year (compounding annually). If the

compounding of interest is done half yearly. then how much more interest will be obtained?
Ans X' 1. Rs.210.8

¥ 2. Rs. 205.7

X 3. Rs.204.4

X 4. Rs. 208.8

Q14 Simplify: 30 + (2 x 3) + 2.
Ans X1, 6

X2 4

X3 8

47

Q15 Ifp:q=6:5, then what is the value of (6p + 5q) : (6p — 5q)?
Ans X' 1. 45:16

X2 35:7

X3 81:7

w4 6l:11

Q16 Ap electric wire of 60 meters is cut into equal segments of 5 meters each. Calculate the number of segments.
Ans X 1. 8

<210

« 3 12

X4 6

Q17 Last year Neil bought two watches. This vear he sold them for Z 15,000 each. On one, he made a 25% profit and on the
other, he had a x% loss. If his net loss is ¥ 2000, then find the value of x.

Ans X 1. 50
X 2. 40
73 25
X 4. 80

Q18 1f Marked price of an article is Rs. 2500 and selling price is Rs. 2000. What is the discount percentage?
Ans X' 1. 10

X2 25

X3 15

4 20

Q19 wWhat is the value of 25 x 4 — 22+ 11 x 7+ 4 = 32
Ans « 1. OR

X2 88

X3 92

X 4. 06
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Q20 1fx =(3/8)y and y = (3/4)z. then what is the value of x : y : z?
Ans  X'1.9:25:31

X2 9:24:34

3. 90:24:32

X4 9:8:31

Section : Part-D-English

Q1

Choose the idiom/phrase that can substitute the highlighted group of words meaningfully.

To abandon vour friends now would be a break of confidence.

Ans X 1. In the dark
X 2. Spill the beans

X 3. Off on the wrong foot
« 4 Breach of faith

Q2 Choose the most appropriate synonym of the underlined word.

We were disillusioned when we saw how the movie star acted in real life.
Ans & 1. Disenchanted

X 2. Deluded

X 3. Fooled

X 4. Misrepresented

Q3 Find the part of the given sentence that has an error in it. If there is no error, choose “No error’.

Sonam is current reading the books I gave her for her birthday.
Ans X' 1. No error

X 2. her for her birthday.

X 3. the books I gave

« 4. Sonam is current reading

Q4 Choose the most appropriate antonym of the underlined word

Mustafa then proceeded to enumerate five factors that he believed are contributing to the prevailing despair.
Ans 1. Guess

X 2. Detail

X 3. Specify

< 4. Calculate



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Q5 Select the sentence with no spelling errors.

Ans o 1.
By virtue of being readers we are also writers, I now believe, but that was not always the case.

x 2.
By vertue of being readers we are also writers, I now believe, but that was not always the case.

x 3.
By virtue of being readers we are also riters, I now believe, but that was not always the case.

X 4.
By virtue of being readers we are also writers, I now beleive, but that was not always the case.

Q6  Select the most appropriate word to fill in the blank.

It is well known that the company is  against older workers and refuses to hire anvone over the age of 50.
Ans 1. prejudiced
X 2. prejudicing
X 3. prejudices

X 4. prejudice

Q.7  Improve the underlined part of the sentence. Choose ‘No improvement” as an answer if the sentence is grammatically

correct.

The hippopotamus is a mildly and peace-loving animal.
Ans X 1. a milder and
+ 2. amild and

X 3. No improvement

X 4. the mildest or

Q8 Select the incorrectly spelt word from the given sentence.

He added that time has come when responsibility should be fised for such incidents.
Ans X 1. responsibility
X 2. added

« 3. fised
X 4. incidents

Q9 Fill in the blank with the most appropriate option.

That’s is the man I was telling you about, he was the one following me.

Ans X 1. bawled
X 2. balled
+ 3. bald
X 4. bailed
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Q.10

Select the most appropriate option for the given blank.

Don’t  faith, everything will be all right.
Ans &1 lose

X 2. loose

X 3. raises

X 4. give

Q11 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
Previous studies of both animal models and humans. have find that involuntary muscle contractions in utero send
signals to the cortex.

Ans X 1. contractions in utero send signals to the cortex.

« 2. have find that involuntary muscle

# 3. No error

X 4. Previous studies of both animal models and humans.
Q12 Select the most appropriate word to fill in the blank.

Loud fueworks alsohavean  on glaciers.
Ans 1. effect

X 2. affects

X 3. effecting

X 4. affect

Q.13 The sentence has been divided into three parts, identify the error segment in the sentence given below. Choose no error

if there is no error in the sentence.

After they had eaten a delicious homemade dinner,/ the family gathered around the fireplace/ to share stories and
laughter.

Ans X 1. After they had eaten a delicious homemade dinner,
X 2. to share stories and laughter.

X 3. the family gathered around the fireplace
« 4. 1O error

Q14 Fill in the blank with the most appropriate option.

I fear she is fretting about something, I wish I could what it is.
Ans X1 query

+ 2. find out

X 3. investigate

X 4. fa]l out
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Q.15 In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of
the Idiom/Phrase.
To pull somebody’s leg

Ans

X 1. To bear your expenses
X 2. To bring no harm
« 3. To make fun of somebody

X 4. To refrain someone from working

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

The different elephants” diets have very different impacts (1)

their surroundings, which have been studied.
African elephants can be quite destructive, as their (2) for saplings can leave a barren land behind. Asian

elephants have been deemed “daintier eaters,” as they leave less of an impact by (3) fewer tree scars. Instead,

they clear away more palms and grass. Elephants in captivity will likely be fed a diet that (4)

foods that of a wild elephant. However, they often are also fed hay. An adult elephant can (5)
each day, which is 4.5-8kg or 10-18lbs.

some of the same
4-5 bales of hay

SubQuestion No : 16

Q16 Select the most appropriate option for blank(1)
Ans K01, at

X 2. over

« 3. 0n

X4 in

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

The different elephants” diets have very different impacts (1)

their surroundings, which have been studied.
African elephants can be quite destructive, as their (2) for saplings can leave a barren land behind. Asian

elephants have been deemed “daintier eaters.” as they leave less of an impact by (3) fewer tree scars. Instead,

they clear away more palms and grass. Elephants in captivity will likely be fed a diet that (4)

foods that of a wild elephant. However, they often are also fed hay. An adult elephant can (5)
each day, which is 4.5-8kg or 10-18lbs.

some of the same
4-5 bales of hay

SubQuestion No : 17

Select the most appropriate option for blank(2)

# 1. prudence

Q.17

Ans

X 2. inclusiveness
X 3. proximity

« 4. preference
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Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

The different elephants’ diets have very different impacts (1) their surroundings, which have been studied.
African elephants can be quite destructive, as their (2) for saplings can leave a barren land behind. Asian
elephants have been deemed “daintier eaters.” as they leave less of an impact by (3) fewer tree scars. Instead,
they clear away more palms and grass. Elephants in captivity will likely be fed a dietthat (4)  some of the same
foods that of a wild elephant. However, they often are also fed hay. An adult elephant can (5) 4-5 bales of hay
each day, which is 4.5-8kg or 10-18lbs.

SubQuestion No : 18

Q18 Select the most appropriate option for blank(3)
Ans X 1. sledging
X 2. siding
« 3. leaving
X 4. hiding
Comprehension:
Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.
The different elephants’ diets have very different impacts (1) their surroundings, which have been studied.
African elephants can be quite destructive, as their (2) for saplings can leave a barren land behind. Asian
elephants have been deemed “daintier eaters,” as they leave less of an impact by (3) fewer tree scars. Instead,
they clear away more palms and grass. Elephants in captivity will likely be fed a diet that (4) some of the same
foods that of a wild elephant. However, they often are also fed hay. An adult elephant can (5) 4-5 bales of hay
each day, which is 4.5-8kg or 10-18lbs.
SubQuestion No : 19
Q.19

Select the most appropriate option for blank(4)
Ans & 1. includes

X 2. subjugates

X 3. invites

X 4. attracts
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Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

The different elephants’ diets have very different impacts (1) their surroundings, which have been studied.
African elephants can be quite destructive, as their (2) for saplings can leave a barren land behind. Asian
elephants have been deemed “daintier eaters.” as they leave less of an impact by (3) fewer tree scars. Instead.
they clear away more palms and grass. Elephants in captivity will likely be fed a dietthat (4)  some of the same
foods that of a wild elephant. However, they often are also fed hay. An adult elephant can (5) 4-5 bales of hay
each day, which is 4.5-8kg or 10-18lbs.

SubQuestion No : 20
Q20 gelect the most appropriate option for blank(5)

Ans 7 1. eat
< 2 sell

X 3. levy
X 4. bail

Section : Part-D-Hindi

U £ 9T e @ IATIEET AT AT
AT

Ans f1'm
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X3 Trer
X 4 g
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v 2 SR B DI

X5 SR |G
X 4 T8I STl

Ans

W frrAfaf@d wea &, Gu v 91 fawedt # @, 3% feew & 997 #Y S T v mEEy & Hd ar
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A v feaTen T
X 2. fodr T g AT
X 3. Teld hIH Al
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v 2 HIT-FTen
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QW ZAfHRT ToF ¥, IR Teed ¥ ¥, 3T TF BFeT 1 TIF Y S gt F ¥ v =g &
T &@nl
=8 groa 7 & 51 5

Ans X 1. IITET
v 2. HITg
X 5. 37ETET

X4 yfeara
Q10 Crpfaied wy 8, IR el & 9, 39 A5 &1 997 & o SI56 ¥ 2T T W58 & aiar] e &1 9el [dee

TRl
gg Uelfdeleid 9gd of 3fw31 ¢ | ¥l Ush Hdl U & Y 5,000 ¥ off SA1G1 9 (3A1d5) H g

e K gl

X 2 f4deH
« 3. 3T
X 4. Tl

WM fro AT I F GRS TS FT 9eFH U AT ST

THT EX ST @ £
Ans %?1_;1%-
X 2. IEA

X3 gieeRr
X4 °gT

Q12 el v &, 9% Reear &§ &, 30 BFFeT &1 999 &7 5 F56F F BT 70 e F FAT M=
T ES e T
frer ofr 17 = (Feoe) gl qUT & TifeT Tl 9F He 2T g

Ans o1 e
X 2. 3pefiT
X3 P
v 4 Tolr

T u T arenty & o arde wse 3d Bt

ol GAT g3 A &l
Ans x 1. \?F'l-?_aﬁﬂ
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Q1 oafafEe g & 91 Reedt & ¥, 37 AFeT &1 9a #Y 3t NFd T ¥ BT gdr =g 9o
ICET= |

AR STEiTad HEpic &1 & & @1 a-900 & & H(Aard 397 AT T4 g
Ans x1m?ﬁ

v 2 SEAgEd

X 3. HEe

X 4. 3eTETET

fET T fawedl # 9§ 9 faded Icgad ¢, Siafd U Ul o | 39 Tel [ddhed &l 999 B
A XL WP B TR

X2 R BIHH AR

X3 T DI 1 T2

v ¢ g 1 I1ige?

Comprehension:

- fau U T H 56 s Bis AU T € iR Udd N W & 9R Aew@ Ru U g s aRi g A
faeT Rad T &1 gfd ST

(1) HicHI g DI Gl YD g, del GUc H () ®igl UUa Bl el Algar=i R (3)___ &1 HRA
ST B Uil So1 SRieaRT & TA1 8, Wld HRAY SR &l (4) A AR WHRRAH A (5)_
gl

SubQuestion No : 16
" Rad 1% o 9o Suge fased o1 95 ST
Ans o [

X2 Hg

X 3. %{QT

4 RN

Q.15
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Comprehension:

- fou U e © 58 st 8IS AU TN € 7R Ua® N W & 9R fiew (e g sHaR ¥ s
faered Rad ®IT &1 gfd &

(1) HidcHIgSl ISl YAFI g, Tel JUGH (2)_ B gl YU Bl g HigaAI R (3)___ gl HRA
ST & uidl S1 Sieawy] & T 8, Wfdh HRAY ST &1 (4) AT aR WHRGAAT el (5)_
gl

SubQuestion No : 17

7 R 2 % oY T8 Sug 9 ed &1 99 Bl
Ans X1 3HEdR

X 2. Ol

v o Hfganaft

x 4. El'fl?[

Comprehension:

I fou U e © e Wsg 8IS AU TN € 7R Uad e W & 9R fiew (R g AR ¥ s
faered Rad ®IT &1 gfd &

()___ HleHigs IS YHiwie, qel TIG H (2 &lol Y9G Hl e dlgasi R (3)___ gl URd
ST & Uil Sl eyl & T 8, Wid YR SR &1 (4) eI aR WARRAAT el (5
gl

SubQuestion No : 18

T R 3 % oy 98 Sug [ded &1 99 Bl
Ans x 1. ﬁ_q_q
& 2. ﬁg_h‘

X3 HiebT
K4 FJR

Comprehension:

d Ru U e H 3w st 8IS AU TN € 3R Uad Rad W & 9R fiew Ruiu g i aRi g aF
faered Rad ®IH &1 gfd H-

(1) Hc @I g3l &l ol YAPBI e, el THa H (2)___ @ ol U9G dl oMl AledlHl R (3)__ g1 HRd
ST & uidl S1 ieaw] & T 8, Wid HRAY SaRIT &1 (4) HBIaR WHRGAA Sl (5)_
gl

SubQuestion No : 19
" e 4 % o 9o Suged fased o1 99 S|
Ans oy ot

X 2. =gdr

v fqe™

X 4 Fdg
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Comprehension:

a Ru U T H 38 st 816 AU TN € 3R Ua® Nad W & IR fiewm Ruiu g sHaRi d g aH
faehed Rad ®IH &1 gfd H-

(1) HicHI g3 ISl YAFI g, Tel TUGH (2)_ I gl YU Bl gl HigaA IR (3)___ gl HRA
ST & Uil So1 Sieaw] & T 8, Wldh HRAY ST &1 (4) AT aR WHARGAAT Sl (5)_
gl

SubQuestion No : 20

2 R 5 % oY T8 Sug [dhed &1 99 B
Ans X 1. TR

x 2. ﬂ.c[]:ﬁas

v ST

X4 I
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